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1 08-Jul-17 Batch 2 23  What is the impact on density when water 

starts freezing?   

A) Increases  B) Decreases  C) None of the 

other three  D) Remains constant 

A B 

2 08-Jul-17 Batch 2 56  What is the unit of Magnetic Flux?   

A) Tesla  B) KN/m3  C) KN/m  D) N   

C Option 

not 

given  

3 08-Jul-17 Batch 2 24  What will be the orientation of a current 

carrying coil with its plane when the coil is 

subjected to a uniform magnetic field?   

A) parallel to magnetic field   

B) inclined at any arbitrary angle to the 

magnetic field  C) perpendicular to the 

magnetic field   

D) inclined at 45° to the magnetic field    

A C 

4 08-Jul-17 Batch 3 90 PÉÆnÖgÀÄªÀ ¥ÀæwÃ ¥Àæ±ÉßUÀÆ £Á®ÄÌ GvÀÛgÀUÀ¼À£ÀÄß ¤ÃrzÉ. 

CªÀÅUÀ¼À°è ¸ÀjAiÀiÁzÀÄzÀ£ÀÄß Dj¹ §gÉ¬Äj. 

vÀvÀìªÀÄ/vÀzÀãªÀ gÀÆ¥À 

ªÀÄÄQÛ____ A) ªÀÄÄPÀÄvÀ B) ªÀÄÄvÀÄÛ  C) ªÀÄÆgÀÄw D) 

ªÀÄÄPÀÄw 

B D 

5 08-Jul-17 Batch 3 85 PÉÆnÖgÀÄªÀ ¥ÀæwÃ ¥Àæ±ÉßUÀÆ £Á®ÄÌ GvÀÛgÀUÀ¼À£ÀÄß ¤ÃrzÉ. 

CªÀÅUÀ¼À°è ¸ÀjAiÀiÁzÀÄzÀ£ÀÄß Dj¹ §gÉ¬Äj. 

QæAiÀiÁ¥ÀzÀ______  

 

A) PÉÆqÀÄ B) ºÀ¹zÀÄ C) §AzÀªÀjUÉ D) Hl 

B A 

6 09-Jul-17 Batch 1 35 C¤ ªÀÄvÀÄÛ gÀÄvï EªÀgÀÄ ¸ÉÆÃzÀgÀ ¸ÀA§A¢üPÀgÀÄ. jÃmÁ ªÀÄvÀÄÛ 

jÃ£ÁgÀ vÁAiÀÄA¢gÀÄ ¸ÀºÉÆÃzÀjAiÀÄgÀÄ. jÃ£Á ªÉÄÊPÉÆßA¢UÉ 

«ªÁºÀªÁV 14 ªÀµÀðzÀ £ÀAvÀgÀ «ZÉÒÃzÀ£À ¥ÀqÉ¢zÁÝ¼É. jÃmÁ 

16 ªÀµÀð¢AzÀ gÉÆÃ¤AiÉÆA¢UÉ ¸ÀAvÉÆÃµÀªÁV ªÉÊªÁ»PÀ 

fÃªÀ£ÀªÀ£ÀÄß £ÀqÉ¸ÀÄwÛzÁÝ¼É. gÉÆÃ¤ ªÀÄvÀÄÛ jÃmÁgÀ ¸ÀA§AzsÀ 

ºÉÃUÉ?  

A) UÀAqÀ  B) ¸ÉÆÃzÀgÀ  C) ¤zsÀðj¸À¯ÁUÀÄªÀÅ¢®è  

D) ¨sÁªÀ 

D D 

7 09-Jul-17 Batch 2 2  Which of the following types of queries are 

action queries?   

A) Crosstab Queries  B) Update queries   

C) Append Queries  D) Parameter queries 

B B and C 

8 09-Jul-17 Batch 2 21  _____ was the first and greatest civilization in 

ancient India.  

A) Vedic  B) Ancient  C) Harappan  D) Indus 

D C and D 
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9 09-Jul-17 Batch 2 15  The most important or powerful computer in a 

typical network is _____ . 

A) Desktop  B) Network workstation  C) 

Network Server  D) Network Client  

B C 

10 09-Jul-17 Batch 2 45 The correct order of steps occurring in nutrition 

in animals is:   

A) Ingestion ---->Digestion--> Assimilation---> 

Absorption   

B) Ingestion --- >Absorption --- > Digestion--> 

Assimilation   

C) Ingestion --- > Digestion--> Absorption---> 

Assimilation   

D) Ingestion ---- > Assimilation --- > Digestion -

--- > Absorption    

A C 

11 09-Jul-17 Batch 2 39  The process of digestion in humans is 

completed in:  

A) Large intestine  B) Stomach  C) Oesophagus  

D) Small intestine  

D A 

12 09-Jul-17 Batch 3 40 The General Gas equation used for ideal gas 

calculation is______________ .  

 

A) PV = Constant  B) PV= mRT  C) PVT = 

constant  D) PV = RT  

D B 

 


